Solving Compound Inequalities
Solve each inequality and graph its solution. Find the solution in the Answer Bank. When you find a
match, place the question number next to the color. Color the picture accordingly to reveal the

mystery picturel
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Answer Bank:

Yellow Black Green Purple
(Js: Gls: Qs: (st
-1=x=<3 ¥x=Borx=<?2 =9 < x< =5 ¥y >—=7orx < —8
x=T7orx<-=3 11 <x < 15 S x<=1 S<x<9
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8 11 10 6 4 2 2 4 2 6 4 6 8 10 8
10 2 2 4 6 2 [ 4 f 4 2 6 4 8 11
11 10 4 1 2 7 2 9 f 9 4 1 2 11 10
11 2 12 9 1 9 7 1 12 7 9 12 1 10 8
8 7 1 3 3 5 1 7 9 3 5 5 9 9 11
1 2 7 5 6 3 9 12 7 3 2 3 12 6 12
7 6 9 5 4 5 1 7 12 5 4 3 7 [ 12
8 9 12 3 5 5 9 12 7 3 3 5 12 9 8
8 10 7 9 1 9 1 7 9 12 12 9 7 10 11
10 11 1 12 7 12 7 12 9 1 12 1 12 8 10
8 a 9 7 2 7 2 12 4 1 B 12 1 8 10
8 11 12 9 4 & 2 5] B 2 4 7 9 11 8
11 10 11 1 2 1 4 12 4 1 & 9 8 10 11
10 a 10 1 9 7 1 7 9 12 12 7 10 11 8
8 2 10 11 10 12 7 1 12 9 8 11 10 8 10




